Math 9 — Unit 4: Measurement Name: /h/kr. Q s '

Lesson 4.2: Rectangular and Triangular Prisms and Cylinders Date: _ Mencl~ IQ,}ozr

Learning Goal: We are learning to calculate the surface area and volume for common 3D shapes.

Surface Area: find the area of each 2D shape by itself, using yesterday’s formulas, then add all of them together
Volume: always the “area of the base” x “the height”

A NET 'S THE oUTSIDE OF A 3D SoLiD.
For each new solid shape, draw the net, then calculate the surface area and the volume.
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Use the appropriate formula to solve for the missing measurement.
7. A rectangular prism has a volume of 5940cn? with a height of 15cm and a length of 33cm. What is the width

of the box?
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8. A cylinder has a surface area of 439.82 cm? with a diameter of 10cm. Determine the height of the cylinder.
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Success Criteria:
e | can find the surface area of prisms and cylinders by adding up the areas of each side
e | can find the volume of prisms and cylinders by using the appropriate formula (area of the base x
height)



